a) One Solution.

y= x <+ x+2y=10

b) No Solution.

y= X+ x+2y=10

¢) Many Solutions.

V= Xt x+2y =10

2. On his daily run the FedEx driver has some small and
large boxes to deliver. The number of small boxes is three
more than twice as many large boxes. Small boxes weigh
3 pounds each and larges weight 8 pounds each. The total
weight of all the boxes is 107 pounds. Write and solve a
system of equations to find the number of small and large

boxes are in the truck.

Solutions to a system of linear equations

One Solution:  Lines intersect — | Different Slope |

No Solution: Lines are Parallel ——#|Same Slope

Many Solutions: Same ling =+

Different y-int

Same Slope

Same v-int




